## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F WEST BOULEVARD RECONSTRUCTION PROJECT NO. ST03-1067

## OCTOBER 29, 2004

ORIGINAL CONTRACT AMOUNT: \$1,433,684.54
CONTRACTOR: SIMON CONTRACTORS OF SOUTH DAKOTA

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	CONST. STAKING (CONTRACTOR FURNISHED)	LS	1.00	\$25,000.00	\$25,000.00	1.00	\$25,000.00	\$0.00
2	MOBILIZATION	LS	1.00	\$31,000.00	\$31,000.00	1.00	\$31,000.00	\$0.00
3	INCIDENTAL WORK (GRADING)	LS	1.00	\$6,000.00	\$6,000.00	1.00	\$6,000.00	\$0.00
4	TRAFFIC CONTROL	LS	1.00	\$20,000.00	\$20,000.00	1.00	\$20,000.00	\$0.00
5	CLEARING & GRUBBING, 6" +TREE	EA	6.00	\$125.00	\$750.00	7.00	\$875.00	\$125.00
6	CLEARING & GRUBBING	LS	1.00	\$750.00	\$750.00	1.00	\$750.00	\$0.00
7	FIRE HYDRANT W/AUX VALVE & B0X	EA	10.00	\$2,350.00	\$23,500.00	10.00	\$23,500.00	\$0.00
8	BACKFLOW PREVENTOR & METER ENCLOSURE	EA	1.00	\$4,725.00	\$4,725.00	1.00	\$4,725.00	\$0.00
9	CONNECT TO EXISTING WATER MAIN	EA	14.00	\$600.00	\$8,400.00	14.00	\$8,400.00	\$0.00
10	RECONNECT WATER SERVICE LINE	EA	29.00	\$225.00	\$6,525.00	34.00	\$7,650.00	\$1,125.00
11	WATER MAIN ENCASEMENT	EA	24.00	\$280.00	\$6,720.00	21.00	\$5,880.00	(\$840.00)
12	25 MM COPPER SERVICE	М	330.90	\$25.00	\$8,272.50	348.70	\$8,717.50	\$445.00
13	32 MM COPPER SERVICE	М	33.10	\$25.00	\$827.50	0.00	\$0.00	(\$827.50)
14	38 MM COPPER SERVICE	М	12.20	\$40.00	\$488.00	60.50	\$2,420.00	\$1,932.00
15	50 MM COPPER SERVICE	М	24.50	\$51.00	\$1,249.50	23.00	\$1,173.00	(\$76.50)
16	100 MM PVC WATER SERVICE	М	2.40	\$43.00	\$103.20	4.80	\$206.40	\$103.20
17	150 MM PVC WATER MAIN	М	38.40	\$62.00	\$2,380.80	38.20	\$2,368.40	(\$12.40)
18	200 MM PVC WATER MAIN	М	1,379.40	\$69.00	\$95,178.60	1,390.60	\$95,951.40	\$772.80

19	250MM PVC WATER MAIN	М	43.90	\$130.00	\$5,707.00	44.60	\$5,798.00	PW121404-0 \$91.00
20	300 MM PVC WATER MAIN	М	15.80	\$275.00	\$4,345.00	20.50	\$5,637.50	\$1,292.50
21	400MM D.I. WATER MAIN	М	62.80	\$260.00	\$16,328.00	55.60	\$14,456.00	(\$1,872.00)
22	100 MM PVC SLEEVE	М	96.00	\$33.60	\$3,225.60	96.00	\$3,225.60	\$0.00
23	25 MM PVC IRRIGATION LINE	М	440.00	\$1.58	\$695.20	470.00	\$742.60	\$47.40
24	38 MM PVC IRRIGATION LINE	М	574.00	\$3.15	\$1,808.10	574.00	\$1,808.10	\$0.00
25	50 MM PVC IRRIGATION LINE	М	259.00	\$4.99	\$1,292.41	259.00	\$1,292.41	\$0.00
26	65 MM PVC IRRIGATION LINE	М	234.00	\$6.83	\$1,598.22	234.00	\$1,598.22	\$0.00
27	75 MM PVC IRRIGATION LINE	М	233.00	\$8.40	\$1,957.20	500.00	\$4,200.00	\$2,242.80
28	100MM PVC IRRIGATION LINE	М	267.00	\$15.75	\$4,205.25	0.00	\$0.00	(\$4,205.25
29	25 MM SERVICE SADDLE	EA	27.00	\$90.00	\$2,430.00	30.00	\$2,700.00	,
30	32 MM SERVICE SADDLE	EA	4.00	\$90.00	\$360.00	0.00	\$0.00	
31	38 MM SERVICE SADDLE	EA	1.00	\$150.00	\$150.00		·	\$600.00
32	50 MM SERVICE SADDLE	EA	2.00	\$160.00	\$320.00			\$0.00
33	32 MM CORPORATION STOP	EA	4.00	\$50.00	\$200.00		·	
34	38 MM CORPORATION STOP	EA	1.00	\$70.00	\$70.00		·	( )
35	50MM CORPORATION STOP	EA	2.00	\$100.00	·			
36	25 MM CURB STOP & BOX	EA	27.00	*			·	
37	32 MM CURB STOP & BOX	EA	4.00	\$190.00	\$760.00		. ,	·
		EA		·	,			ν.
38	38 MM CURB STOP & BOX		1.00					
39	50 MM CURB STOP & BOX	EA	2.00	\$315.00	\$630.00	2.00	\$630.00	\$0.00
40	200 MM X 100 MM REDUCER	EA	1.00	\$250.00	\$250.00	1.00	\$250.00	\$0.00
41	200 MM X 150 MM REDUCER	EA	5.00	\$300.00	\$1,500.00	5.00	\$1,500.00	\$0.00

42	250 MM X 200 MM REDUCER	EA	1.00	\$450.00	\$450.00	1.00	\$450.00	PW121404-0 \$0.00
43	200 MM X 200 MM X 100 MM TEE	EA	1.00	\$450.00	\$450.00	1.00	\$450.00	\$0.00
44	200 MM X 200 MM X 150 MM TEE	EA	10.00	\$450.00	\$4,500.00	10.00	\$4,500.00	\$0.00
45	200 MM X 200 MM X 200 MM TEE	EA	2.00	\$450.00	\$900.00	1.00	\$450.00	(\$450.00)
46	400 MM X 400 MM X 150 MM TEE	EA	1.00	\$1,300.00	\$1,300.00	1.00	\$1,300.00	\$0.00
47	400 MM X 400 MM X 300 MM TEE	EA	4.00	\$1,400.00	\$5,600.00	6.00	\$8,400.00	\$2,800.00
48	200 MM X 200 MM CROSS	EA	5.00	\$500.00	\$2,500.00	4.00	\$2,000.00	(\$500.00)
49	250MM X 200 MM CROSS	EA	2.00	\$700.00	\$1,400.00	2.00	\$1,400.00	\$0.00
50	400 MM X 200 MM CROSS	EA	1.00	\$1,400.00	\$1,400.00	1.00	\$1,400.00	\$0.00
51	100 MM MJ PLUG	EA	1.00	\$125.00	\$125.00	1.00	\$125.00	\$0.00
52	200 MM MJ PLUG	EA	2.00	\$300.00	\$600.00	2.00	\$600.00	\$0.00
53	250 MM MJ PLUG	EA	1.00	\$500.00	\$500.00	2.00	\$1,000.00	\$500.00
54	400 MM MJ PLUG	EA	2.00	\$1,200.00	\$2,400.00	2.00	\$2,400.00	\$0.00
55	100 MM GATE VALVE W/ BOX	EA	1.00	\$500.00	\$500.00	1.00	\$500.00	\$0.00
56	150 MM GATE VALVE W/ BOX	EA	1.00	\$750.00	\$750.00	1.00	\$750.00	\$0.00
57	200 MM GATE VALVE W/ BOX	EA	30.00	\$1,100.00	\$33,000.00	29.00	\$31,900.00	(\$1,100.00)
58	250 MM GATE VALVE W/ BOX	EA	2.00	\$1,500.00	\$3,000.00	2.00	\$3,000.00	\$0.00
59	400 MM GATE VALVE W/ BOX	EA	3.00	\$5,100.00	\$15,300.00	3.00	\$15,300.00	\$0.00
60	150 MM FIRE HYDRANT EXTENSION	EA	1.00	\$315.00	\$315.00	2.00	\$630.00	\$315.00
61	300 MM FIRE HYDRANT EXTENSION	EA	1.00	\$320.00	\$320.00	1.00	\$320.00	\$0.00
62	450 MM FIRE HYDRANT EXTENSION	EA	1.00	\$380.00	\$380.00	0.00	\$0.00	(\$380.00)
63	600 MM FIRE HYDRANT EXTENSION	EA	1.00	\$390.00	\$390.00		\$390.00	\$0.00
64	150 MM 90 DEGREE BEND	EA	1.00	\$290.00	\$290.00			

65	200 MM 11.25 DEGREE BEND	EA	2.00	\$280.00	\$560.00	5.00		PW121404-0 \$840.00
66	200 MM 90 DEGREE BEND	EA	2.00	\$420.00	\$840.00			(\$420.00)
67	200 MM 45 DEGREE BEND	EA	18.00	\$420.00	\$7,560.00	14.00	\$5,880.00	(\$1,680.00)
68	300 MM 90 DEGREE BEND	EA	4.00	\$800.00	\$3,200.00	4.00	\$3,200.00	\$0.00
69	IRRIGATION CONTROLLER	EA	1.00	\$525.00	\$525.00	1.00	\$525.00	\$0.00
70	75 MM IRRIGATION ISOLATION GATE VALVE	EA	2.00	\$183.75	\$367.50	4.00	\$735.00	\$367.50
71	100 MM IRRIGATION ISOLATION GATE VALVE	EA	2.00	\$472.50	\$945.00	0.00	\$0.00	(\$945.00)
72	75 MM QUICK COUPLER VALVE	EA	2.00	\$131.25	\$262.50	8.00	\$1,050.00	\$787.50
73	100 MM QUICK COUPLER VALVE	EA	3.00	\$157.50	\$472.50	0.00	\$0.00	(\$472.50)
74	WATER FOR SOD AND/OR PLANTS	M GAL	100.00	\$5.25	\$525.00	0.00	\$0.00	(\$525.00)
75	IRRIGATION HEAD (S700-PC-6.0-FA)	EA	117.00	\$68.25	\$7,985.25	117.00	\$7,985.25	\$0.00
76	IRRIGATION HEAD (V-1550-4CF)	EA	74.00	\$42.00	\$3,108.00	74.00	\$3,108.00	\$0.00
77	SODDING	SM	6,841.10	\$4.31	\$29,485.14	12,182.40	\$52,506.14	\$23,021.00
78	CONTROLLER VALVE	EA	12.00	\$210.00	\$2,520.00	15.00	\$3,150.00	\$630.00
79	MUCK EXCAVATION (TRENCH)	СМ	300.00	\$13.00	\$3,900.00	123.10	\$1,600.30	(\$2,299.70)
80	ROCK EXCAVATIOIN (TRENCH	СМ	100.00	\$35.00	\$3,500.00	0.00	\$0.00	(\$3,500.00)
81	CONTROLLED LOW STRENGTH MATERIAL	СМ	100.00	\$45.00	\$4,500.00	137.43	\$6,184.35	\$1,684.35
82	TYPE I GRANULAR BACKFILL	MT	200.00	\$14.00	\$2,800.00	1,027.90	\$14,390.60	\$11,590.60
83	TYPE II GRANULAR BACKFILL	MT	200.00	\$14.00	\$2,800.00	0.00	\$0.00	(\$2,800.00)
84	TYPE III GRANULAR BACKFILL	MT	200.00	\$14.00	\$2,800.00	0.00	\$0.00	(\$2,800.00)
85	100 MM PVC SERVICE LINE	М	72.40	\$78.00	\$5,647.20	115.80	\$9,032.40	\$3,385.20
86	200 MM PVC SEWER MAIN	М	313.70	\$82.00	\$25,723.40	302.60	\$24,813.20	(\$910.20)
87	100 MM PVC CLEAOUT	EA	6.00	\$84.00	\$504.00	8.00	\$672.00	\$168.00

88	150MM PVC CLEANOUT	EA	1.00	\$130.00	\$130.00	0.00	\$0.00	PW121404-0 (\$130.00)
89	DROP MANHOLE (1200MM)	EA	1.00	\$3,500.00	\$3,500.00	1.00	\$3,500.00	\$0.00
90	STANDARD MANHOLE (1200MM)	EA	3.00	\$3,000.00	\$9,000.00	3.00	\$9,000.00	\$0.00
91	EXTRA MANHOLE DEPTH (1200MM)	М	4.90	\$400.00	\$1,960.00	4.90	\$1,960.00	\$0.00
92	RECONNECT SEWER SERVICE	EA	6.00	\$125.00	\$750.00	5.00	\$625.00	(\$125.00)
93	SEWER SERVICE CONNECTION	EA	6.00	\$25.00	\$150.00	4.00	\$100.00	(\$50.00)
94	100MM X 90 DEGREE PVC SEWER BEND	EA	2.00	\$110.00	\$220.00	1.00	\$110.00	(\$110.00)
95	150MM PVC SEWER PLUG	EA	1.00	\$140.00	\$140.00	0.00	\$0.00	(\$140.00)
96	ADJUST VALVE BOX	EA	2.00	\$125.00	\$250.00	0.00	\$0.00	(\$250.00)
97	ADJUST MANHOLE RING & COVER	EA	2.00	\$900.00	\$1,800.00	0.00	\$0.00	(\$1,800.00)
98	REMOVE TYPE B DROP INLET	EA	7.00	\$100.00	\$700.00	8.00	\$800.00	\$100.00
99	WATER FOR EMBANKMENT	M GAL	100.00	\$10.00	\$1,000.00	20.00	\$200.00	(\$800.00)
100	WATER FOR DUST CONTROL	M GAL	100.00	\$10.00	\$1,000.00	100.00	\$1,000.00	\$0.00
101	AASHTO T-180 SOIL TEST	EA	4.00	\$160.00	\$640.00	5.00	\$800.00	\$160.00
102	EXCAVATION, UNCLASSIFIED- DIGOUTS W/ SUGAR ROCK	СМ	100.00	\$40.00	\$4,000.00	7.00	\$280.00	(\$3,720.00)
103	EXCAVATION, UNCLASSIFIED	СМ	5,272.00	\$9.00	\$47,448.00	5,272.00	\$47,448.00	\$0.00
104	TOPSOIL, FURNISH & PLACE	СМ	176.00	\$25.50	\$4,488.00	329.50	\$8,402.25	\$3,914.25
105	REMOVE MANHOLE (SEWER)	EA	2.00	\$600.00	\$1,200.00	3.00	\$1,800.00	\$600.00
106	SAWING, ASPHALT PAVEMENT	М	210.70	\$3.00	\$632.10	210.00	\$630.00	(\$2.10)
107	SAWING, CONCRETE PAVEMENT	М	115.20	\$6.00	\$691.20	25.25	\$151.50	(\$539.70)
108	REMOVE & DISPOSE ASPHALT PAVEMENT	SM	8,900.30	\$1.50	\$13,350.45	9,120.00	\$13,680.00	\$329.55
109	REMOVE CONCRETE CURB & GUTTER	М	2,514.80	\$5.65	\$14,208.62	2,514.80	\$14,208.62	\$0.00
110	REMOVE CONCRETE DRIVEWAY PAVEMENT	SM	299.60	\$5.20	\$1,557.92	448.50	\$2,332.20	\$774.28

111	REMOVE CONCRETE SIDEWALK	SM	373.80	\$5.20	\$1,943.76	551.30		PW121404-02 \$923.00
112	REMOVE PIPE CULVERT	М	173.30	\$7.40	\$1,282.42	196.40	\$1,453.36	\$170.94
113	REMOVE CONCRETE GUTTER	М	82.40	\$5.65	\$465.56	131.94	\$745.46	\$279.90
114	ASPHALT COMPACTION TESTS	EA	30.00	\$25.00	\$750.00	23.00	\$575.00	(\$175.00)
115	CONCRETE TEST SET	EA	15.00	\$125.00	\$1,875.00	18.00	\$2,250.00	\$375.00
116	AGGREGATE BASE COURSE	MT	4,628.50	\$11.00	\$50,913.50	530.90	\$5,839.90	(\$45,073.60)
117	AGGREGATE BASE COURSE- OVER FABRIC	MT	2,945.00	\$11.00	\$32,395.00	3,992.60	\$43,918.60	\$11,523.60
118	GEOGRID/SOIL SUPPORT FABRIC	SM	6,148.30	\$2.65	\$16,293.00	10,420.00	\$27,613.00	\$11,320.01
119	AC COMPOSITE	MT	150.60	\$46.00	\$6,927.60	0.00	\$0.00	(\$6,927.60)
120	ASPHALT DRIVEWAY PAVEMENT (150MM)	MT	15.10	\$70.00	\$1,057.00	0.00	\$0.00	(\$1,057.00)
121	AC, CLASS G, TYPE 1	MT	3,064.20	\$46.00	\$140,953.20	4,228.74	\$194,522.04	\$53,568.84
122	AC, CLASS G, TYPE 2	MT	1,021.40	\$48.00	\$49,027.20	0.00	\$0.00	(\$49,027.20)
123	CONCRETE APPROACH PAVEMENT, 150 MM	SM	104.00	\$49.00	\$5,096.00	102.20	\$5,007.80	(\$88.20)
124	CONC. APPROACH PAVEMENT REINFORCED, 150MM	SM	11.60	\$60.00	\$696.00	11.60	\$696.00	\$0.00
125	CONCRETE DRIVEWAY PAVEMENT, 150 MM	SM	237.40	\$46.00	\$10,920.40	274.90	\$12,645.40	\$1,725.00
126	PCC PAVEMENT NONREINFORCED, 200 MM	SM	301.50	\$41.00	\$12,361.50	299.80	\$12,291.80	(\$69.70)
127	CONCRETE DRAIN PAN, 200 MM	SM	101.80	\$60.00	\$6,108.00	62.00	\$3,720.00	(\$2,388.00)
128	CONCRETE CURB & GUTTER, TYPE B200	М	1,987.90	\$40.25	\$80,012.98	1,927.90	\$77,597.98	(\$2,415.00)
129	CONCRETE GUTTER, TYPE "P200" STRAIGHT	М	81.20	\$40.25	\$3,268.30	106.60	\$4,290.65	\$1,022.35
130	CONCRETE FILLET & PAN (REINFORCED), 200 MM	SM	864.80	\$65.00	\$56,212.00	880.24	\$57,215.60	\$1,003.60
131	CONCRETE HANDICAPPED ACCESS RAMP (100MM)	SM	308.70	\$30.00	\$9,261.00	237.42	\$7,122.60	(\$2,138.40)
132	CONCRETE SIDEWALK	SM	203.70	\$30.00	\$6,111.00	462.10	\$13,863.00	\$7,752.00
133	TYPE "B" INLET W/CURBED COVER	EA	9.00	\$1,650.00	\$14,850.00	12.00	\$19,800.00	\$4,950.00

134	12" EDGE DRAIN & ROCK	М	941.10	\$14.45	\$13,598.90	1,530.00	\$22,108.50	PW121404-0 \$8,509.61
135	SPECIAL TYPE B INLET	EA	2.00	\$1,700.00	\$3,400.00	2.00	\$3,400.00	\$0.00
136	TYPE "E" INLET, 1.5 M	EA	6.00	\$2,700.00	\$16,200.00	6.00	\$16,200.00	\$0.00
137	TYPE "E" INLET, 3 M	EA	9.00	\$3,700.00			\$33,300.00	\$0.00
138	SPECIAL TYPE "E" INLET, 3M	EA	1.00	\$4,500.00	\$4,500.00		\$4,500.00	\$0.00
139	1.5 M JUNCTION STRUCTURE	EA	1.00	\$4,000.00	\$4,000.00	1.00	\$4,000.00	\$0.00
140	300 MM RCP, CLASS II	М	2.40	\$100.00	\$240.00	0.00	\$0.00	(\$240.00)
141	450 MM RCP, CLASS II	М	604.10	\$70.00	\$42,287.00	434.40	\$30,408.00	(\$11,879.00)
142	600 MM RCP, CLASS II	М	35.40	\$150.00	\$5,310.00	184.80	\$27,720.00	\$22,410.00
143	750 MM RCP, CLASS III	М	112.80	\$180.00	\$20,304.00	112.20	\$20,196.00	(\$108.00)
144	900 MM RCP CLASS III	М	101.80	\$230.00	\$23,414.00	101.60	\$23,368.00	(\$46.00)
145	450 MM X 450 MM X 450 MM RCP TEE	EA	4.00	\$470.00	\$1,880.00	3.00	\$1,410.00	(\$470.00)
146	600 MM X 600 MM X 450 MM RCP TEE	EA	2.00	\$500.00	\$1,000.00	2.00	\$1,000.00	\$0.00
147	900 MM X 900 MM X 450 MM RCP TEE W/ 600MM MANHOLE RISER	EA	1.00	\$1,800.00	\$1,800.00	1.00	\$1,800.00	\$0.00
148	300 MM RCP 45 DEGREE BEND	EA	1.00	\$300.00	\$300.00	1.00	\$300.00	\$0.00
149	600 MM RCP 22.5 DEGREE BEND	EA	1.00	\$700.00	\$700.00	1.00	\$700.00	\$0.00
150	LIGHT POLE FOOTING, 610 MM DIAM	EA	18.00	\$365.00	\$6,570.00	18.00	\$6,570.00	\$0.00
151	5.5 M POLE, FIXED BASE W/LUMINAIRE BRACKET	EA	18.00	\$2,210.00	\$39,780.00	18.00	\$39,780.00	\$0.00
152A	HPS W/CONTRACLINE GLARE SHIELD	EA	18.00	\$1,090.00	\$19,620.00	18.00	\$19,620.00	\$0.00
153	19 MM RIGID CONDIUT	М	451.00	\$12.15	\$5,479.65	173.02	\$2,102.19	(\$3,377.46)
154	51 MM RIGID CONDUIT	М	1,240.00	\$14.35	\$17,794.00	893.47	\$12,821.29	(\$4,972.71)
155	76 MM RIGID CONDUIT	М	120.00	\$18.75	\$2,250.00	94.80	\$1,777.50	(\$472.50)
156	457 MM DIA JUNCTION BOX	EA	50.00	\$440.00	\$22,000.00	45.00	\$19,800.00	(\$2,200.00)

157	610 MM DIA JUNCTION BOX	EA	6.00	\$550.00	\$3,300.00	6.00	\$3,300.00	PW121404-0
158	1/C #1 AWG COPPER	М	2,600.00	\$2.65	\$6,890.00	2,120.30	\$5,618.80	(\$1,271.21)
159	1/C #6 AWG COPPER	М	1,500.00	\$1.45	\$2,175.00	1,169.60	\$1,695.92	(\$479.08)
160	1/C #8 AWG COPPER	М	1,680.00	\$1.05	\$1,764.00	1,587.80	\$1,667.19	(\$96.81)
161	2/C #10 AWG COPPER POLE & BRACKET	М	210.00	\$4.42	\$928.20	177.50	\$784.55	(\$143.65)
162	INCIDENTAL WORK (ELECTRICAL)	LS	1.00	\$8,280.00	\$8,280.00	1.00	\$8,280.00	\$0.00
163	REGULATORY SIGNS	EA	30.00	\$175.00	\$5,250.00	30.00	\$5,250.00	\$0.00
164	STREET SIGNS	EA	20.00	\$150.00	\$3,000.00	20.00	\$3,000.00	\$0.00
165	COLD PLAST. MARKING, 100 MM	М	186.00	\$8.40	\$1,562.40	699.30	\$5,874.12	\$4,311.72
166	COLD PLAST. MARKING, 300 MM	М	254.90	\$29.40	\$7,494.06	235.85	\$6,933.99	(\$560.07)
167	COLD PLAST. MARKING, 600 MM	М	99.40	\$59.85	\$5,949.09	103.81	\$6,213.03	\$263.94
168	TEMP PVMT MARKING PAINT, 100 MM, WHITE	М	186.00	\$1.31	\$243.66	0.00	\$0.00	(\$243.66)
169	TEMP PVMT MARKING PAINT, 300 MM, WHITE	М	254.90	\$5.25	\$1,338.23	0.00	\$0.00	(\$1,338.23)
170	TEMP PVMT MARKING PAINT, 600 MM, WHITE	М	99.40	\$11.55	\$1,148.07	0.00	\$0.00	(\$1,148.07)
	CHANGE ORDER #1							
171	ELECTRICAL IRRIGATION	LS	0.00	\$1,120.65	\$0.00	1	\$1,120.65	\$1,120.65
172	MILLING DAMAGE	LS	0.00	\$600.00	\$0.00	1	\$600.00	\$600.00
173	WATER LOWERING	LS	0.00	\$4,313.98	\$0.00	1	\$4,313.98	\$4,313.98
174	INSULATION	SM	0.00	\$49.00	\$0.00	115.9	\$5,679.10	\$5,679.10
175	14" WATER TIE-IN	LS	0.00	\$1,896.18	\$0.00	1	\$1,896.18	\$1,896.18
176	300MM GATE VALVE	LS	0.00	\$2,400.00	\$0.00	1	\$2,400.00	\$2,400.00
177	400MM X 200MM TEE	EA	0.00	\$2,000.00	\$0.00	2	\$4,000.00	\$4,000.00
178	UTILITY CONFLICT	LS	0.00	\$897.00	\$0.00	1	\$897.00	\$897.00

179	TREES & GRADING	LS	0.00	\$1,610.00	\$0.00	1	\$1,610.00	PW121404-02 \$1,610.00
180	EXTRA TRAFFIC CONTROL	LS	0.00				\$4,000.00	\$4,000.00
	TOTAL				\$1,434,854.52		\$1,480,445.88	\$45,591.36

C.C.O. HISTORY INCREASE/(DECREAS	SE)	PRIOR ADJUSTED CONTRACT PRICE :	PV\$11424,44594520
CCO #1F	\$45,591.36	NET INCREASE/(DECREASE):	\$45,591.36
		ADJUSTED CONTRACT PRICE:	\$1,480,445.88
		CHANGE TO DATE:	\$45,591.36
CONTRACTOR:		DATE:	
ENGINEER:		DATE:	
MAYOR:		DATE:	
FINANCE:		DATE:	
CONTRACT TIME CHANGE +/-: 0 NEW CO	ONTRACT TIME: Davs		

## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F WEST BOULEVARD RECONSTRUCTION PROJECT NO. ST03-1067 OCTOBER 29, 2004

ORIGINAL CONTRACT AMOUNT: \$1,433,684.54
CONTRACTOR: SIMON CONTRACTORS OF SOUTH DAKOTA

LINE ITEM	DESCRIPTION	REASON FOR CHANGE
	CLEARING & GRUBBING, 6"	
5	+TREE	REMOVE EXTRA TREE (DIED SINCE PLANS WERE DEVELOPED)
10	RECONNECT WATER SERVICE LINE	MEASURED QUANTITIES
11	WATER MAIN ENCASEMENT	MEASURED QUANTITIES
12	25 MM COPPER SERVICE	MEASURED QUANTITIES
13	32 MM COPPER SERVICE	MEASURED QUANTITIES
14	38 MM COPPER SERVICE	MEASURED QUANTITIES
15	50 MM COPPER SERVICE	MEASURED QUANTITIES
16	100 MM PVC WATER SERVICE	MEASURED QUANTITIES
17	150 MM PVC WATER MAIN	MEASURED QUANTITIES
18	200 MM PVC WATER MAIN	MEASURED QUANTITIES
19	250MM PVC WATER MAIN	MEASURED QUANTITIES
20	300 MM PVC WATER MAIN	MEASURED QUANTITIES
21	400MM D.I. WATER MAIN	MEASURED QUANTITIES
23	25 MM PVC IRRIGATION LINE	MEASURED QUANTITIES
27	75 MM PVC IRRIGATION LINE	MEASURED QUANTITIES USED 75 MM IN PLACE OF 100 MM
28	100MM PVC IRRIGATION LINE	MEASURED QUANTITIES USED 75 MM IN PLACE OF 100 MM
29	25 MM SERVICE SADDLE	MEASURED QUANTITIES USED 25 MM IN PLACE OF 32 MM
30	32 MM SERVICE SADDLE	MEASURED QUANTITIES USED 25 MM IN PLACE OF 32 MM

LINE ITEM	DESCRIPTION	REASON FOR CHANGE	PW121404-02
31	38 MM SERVICE SADDLE	MEASURED QUANTITIES	
33	32 MM CORPORATION STOP	NONE USED IN LIEU OF 38 MM CORP STOP	
34	38 MM CORPORATION STOP	MEASURED QUANTITIES	
37	32 MM CURB STOP & BOX	NONE USED IN LIEU OF 38 MM CORP STOP	
38	38 MM CURB STOP & BOX	MEASURED QUANTITIES	
45	200 MM X 200 MM X 200 MM TEE	MEASURED QUANTITIES	
47	400 MM X 400 MM X 300 MM TEE	MEASURED QUANTITIES	
48	200 MM X 200 MM CROSS	MEASURED QUANTITIES	
53	250 MM MJ PLUG	MEASURED QUANTITIES	
57	200 MM GATE VALVE W/ BOX	MEASURED QUANTITIES	
60	150 MM FIRE HYDRANT EXTENSION	MEASURED QUANTITIES	
62	450 MM FIRE HYDRANT EXTENSION	MEASURED QUANTITIES	
64	150 MM 90 DEGREE BEND	MEASURED QUANTITIES	
65	200 MM 11.25 DEGREE BEND	MEASURED QUANTITIES	
66	200 MM 90 DEGREE BEND	MEASURED QUANTITIES	
67	200 MM 45 DEGREE BEND	MEASURED QUANTITIES	
	75 MM IRRIGATION ISOLATION GATE VALVE	MEASURED QUANTITIES	
71	100 MM IRRIGATION ISOLATION GATE VALVE	NONE USED	
72	75 MM QUICK COUPLER VALVE	MEASURED QUANTITY - PARKS REQUEST	
73	100 MM QUICK COUPLER VALVE	NONE USED	
	WATER FOR SOD AND/OR PLANTS	NONE USED	
77	SODDING	ADDITIONAL QUANTITY USED TO COMPLETE BOULEVARD AREA	

LINE ITEM	DESCRIPTION	REASON FOR CHANGE	PW121404-02
78	CONTROLLER VALVE	MEASURED QUANTITIES	
79	MUCK EXCAVATION (TRENCH)	MEASURED QUANTITIES	
80	ROCK EXCAVATIOIN (TRENCH	NONE USED	
81	CONTROLLED LOW STRENGTH MATERIAL	MEASURED QUANTITIES	
82	TYPE I GRANULAR BACKFILL	MEASURED QUANTITIES	
83	TYPE II GRANULAR BACKFILL	NONE USED	
84	TYPE III GRANULAR BACKFILL	NONE USED	
85	100 MM PVC SERVICE LINE	MEASURED QUANTITIES	
86	200 MM PVC SEWER MAIN	MEASURED QUANTITIES	
87	100 MM PVC CLEAOUT	MEASURED QUANTITIES	
88	150MM PVC CLEANOUT	NONE USED	
92	RECONNECT SEWER SERVICE	MEASURED QUANTITIES	
93	SEWER SERVICE CONNECTION	MEASURED QUANTITIES	
94	100MM X 90 DEGREE PVC SEWER BEND	MEASURED QUANTITIES	
95	150MM PVC SEWER PLUG	NONE USED	
96	ADJUST VALVE BOX	NONE USED	
97	ADJUST MANHOLE RING & COVER	NONE USED	
98	REMOVE TYPE B DROP INLET	MEASURED QUANTITIES	
99	WATER FOR EMBANKMENT	MEASURED QUANTITIES	
101	AASHTO T-180 SOIL TEST	MEASURED QUANTITIES	
102	EXCAVATION, UNCLASSIFIED- DIGOUTS W/ SUGAR ROCK	MEASURED QUANTITIES	
104	TOPSOIL, FURNISH & PLACE	MEASURED QUANTITIES TO SMOOTH THE BOULEVARD AREA	

LINE ITEM	DESCRIPTION	REASON FOR CHANGE	PW121404-02
105	REMOVE MANHOLE (SEWER)	MEASURED QUANTITIES	
106	SAWING, ASPHALT PAVEMENT	MEASURED QUANTITIES	
107	SAWING, CONCRETE PAVEMENT	MEASURED QUANTITIES	
108	REMOVE & DISPOSE ASPHALT PAVEMENT	MEASURED QUANTITIES	
110	REMOVE CONCRETE DRIVEWAY PAVEMENT	MEASURED QUANTITIES	
111	REMOVE CONCRETE SIDEWALK	MEASURED QUANTITIES	
112	REMOVE PIPE CULVERT	MEASURED QUANTITIES	
113	REMOVE CONCRETE GUTTER	MEASURED QUANTITIES	
114	ASPHALT COMPACTION TESTS	MEASURED QUANTITIES	
115	CONCRETE TEST SET	MEASURED QUANTITIES	
116	AGGREGATE BASE COURSE	MEASURED QUANTITIES USED GEOGRID TO STABILIZE SUBGRADE	
117	AGGREGATE BASE COURSE- OVER FABRIC	MEASURED QUANTITIES	
118	GEOGRID/SOIL SUPPORT FABRIC	MEASURED QUANTITIES	
119	AC COMPOSITE	NONE USED (SEE AC CLASS G - LINE ITEMS 121 & 122)	
120	ASPHALT DRIVEWAY PAVEMENT (150MM)	NONE USED (SEE AC CLASS G - LINE ITEMS 121 & 122)	
121	AC, CLASS G, TYPE 1	MEASURED QUANTITIES	
122	AC, CLASS G, TYPE 2	MEASURED QUANTITIES	
123	CONCRETE APPROACH PAVEMENT, 150 MM	MEASURED QUANTITIES	
125	CONCRETE DRIVEWAY PAVEMENT, 150 MM	MEASURED QUANTITIES	
126	PCC PAVEMENT NONREINFORCED, 200 MM	MEASURED QUANTITIES	
127	CONCRETE DRAIN PAN, 200 MM	MEASURED QUANTITIES	
128	CONCRETE CURB & GUTTER, TYPE B200	MEASURED QUANTITIES	

LINE ITEM	DESCRIPTION	REASON FOR CHANGE	PW121404-02
129	CONCRETE GUTTER, TYPE "P200" STRAIGHT	MEASURED QUANTITIES	
130	CONCRETE FILLET & PAN (REINFORCED), 200 MM	MEASURED QUANTITIES	
131	CONCRETE HANDICAPPED ACCESS RAMP (100MM)	MEASURED QUANTITIES	
132	CONCRETE SIDEWALK	MEASURED QUANTITIES	
133	TYPE "B" INLET W/CURBED COVER	MEASURED QUANTITIES	
134	12" EDGE DRAIN & ROCK	MEASURED QUANTITIES (ADDED TO DRAIN WET AREA)	
140	300 MM RCP, CLASS II	NONE USED	
141	450 MM RCP, CLASS II	MEASURED QUANTITIES	
142	600 MM RCP, CLASS II	MEASURED QUANTITIES	
143	750 MM RCP, CLASS III	MEASURED QUANTITIES	
144	900 MM RCP CLASS III	MEASURED QUANTITIES	
145	450 MM X 450 MM X 450 MM RCP TEE	MEASURED QUANTITIES	
153	19 MM RIGID CONDIUT	MEASURED QUANTITIES	
154	51 MM RIGID CONDUIT	MEASURED QUANTITIES	
155	76 MM RIGID CONDUIT	MEASURED QUANTITIES	
156	457 MM DIA JUNCTION BOX	MEASURED QUANTITIES	
158	1/C #1 AWG COPPER	MEASURED QUANTITIES	
159	1/C #6 AWG COPPER	MEASURED QUANTITIES	
160	1/C #8 AWG COPPER	MEASURED QUANTITIES	
161	2/C #10 AWG COPPER POLE & BRACKET	MEASURED QUANTITIES	
165	COLD PLAST. MARKING, 100 MM	MEASURED QUANTITIES	
166	COLD PLAST. MARKING, 300 MM	MEASURED QUANTITIES	

LINE ITEM	DESCRIPTION	REASON FOR CHANGE PW121404-0	
167	COLD PLAST. MARKING, 600 MM	MEASURED QUANTITIES	
168	TEMP PVMT MARKING PAINT, 100 MM, WHITE	NONE USED	
169	TEMP PVMT MARKING PAINT, 300 MM, WHITE	NONE USED	
170	TEMP PVMT MARKING PAINT, 600 MM, WHITE	NONE USED	
171	ELECTRICAL IRRIGATION	ADDITIONAL WORK TO SERVICE BOX	
172	MILLING DAMAGE	ADDITIONAL WORK TO REPAIR DAMAGED PAVEMENT AREA	
173	WATER MAIN LOWERING	ADDITIONAL WORK NEEDED TO TIE TO EXISTING WATERMAIN WHERE PLANS SHOWED SMALLER MAIN	
174	INSULATION	ADDITIONAL WORK NEEDED TO TIE TO EXISTING WATERMAIN WHERE PLANS SHOWED SMALLER MAIN	
175	14" WATER TIE-IN	ADDITIONAL WORK NEEDED TO TIE TO EXISTING WATERMAIN WHERE PLANS SHOWED SMALLER MAIN	
176	300MM GATE VALVE	NEW ITEM NECESSARY TO CONNECT TO OLD MAIN	
177	400MM X 200MM TEE	ITEM NEEDED TO TIE TO EXISTING WATER MAIN	
178	UTILITY CONFLICT	ADDITIONAL WORK TO ADJUST WATER MAIN CONNECTION TO EXISTING	
179	TREES & GRADING	ADDITIONAL ITEM NECESSARY TO REPLACE ROOT DAMAGED TREE	
180	EXTRA TRAFFIC CONTROL	ADDITIONAL ITEM NECESSARY TO REPLACE ROOT DAMAGED TREE	
_			

PREPARED BY: JOE JAGODZINSKI, P.E. DATE: DECEMBER 8, 2004